Mates 27/03 @

956.830 + 821.218 = ?? 1.778.048

45,708 + 32,95 = ?? 78,658
55.939 — 35.407 = ?? 20.532
65,03 -13,2="7? 51.83
65.734x 83 =77 5.455.922

65.702 x 205 = ?? 13.468.910
4.391x186 =77 816.726

31.582:14 =77 Cociente 2.255 y resto 12
Indicad en vuestra respuesta el cociente y el resto:
Ejemplo: Cociente 456 y resto 10

94.883:52="77 Cociente 1.824 y resto 35
Indicad en vuestra respuesta el cociente y el resto:

Ejemplo: Cociente 456 y resto 10

12.401:97 =72 Cociente 127 y resto 82
Indicad en vuestra respuesta el cociente y el resto:
Ejemplo: Cociente 456 y resto 10
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